inz= f::usage ="Isabek A nur"

ouz2]= | sabek Ai nur

noj= f::usage =" U +UxUxUx=0, U(x, 0)=x, f (U)=UxUxU/3"

out20]= Ut +UxUxUx=0, U(x, 0)=x, f (U) =U+UxU/3

3= f::usage = "contourpl ot 3D funkcyasy arkyly ai kyn enes tendeudin grafigin salan z"

out23)= contourpl ot 3D funkcyasy arkyly ai kyn emes tendeudin grafigin salaniz

inpop= Contour Plot3D[UxUxt +U=x, {x, 0, 10}, {U, 0, 10}, {t, O, 10}, AxesLabel -» {x, U, t}]
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nel:= f::usage =" U +UxUxUx=0, U(x, 0)=sinx"

outl= Ut +UxUxUx=0, U(x, 0)=si nx

7= f::usage ="contourpl ot 3D EL a8 @R W & £ 2 tay o R "
ou[7]= cont our pl ot 3D EL a8 @B AR ® L a tat x:° R

o= ContourPl ot 3D[Ux Ut +arcsinU=x, {x, 0, 10}, {U, 0, 10}, {t, O, 10}]

ContourPlot3D:valuef : (UUt + arcsinU) — x must be a numerical function. >

ContourPlot3D:valuef : (UUt + arcsinU) — x must be a numerical function. >

ouii0)= Cont our Pl ot 3D[UUt +arcsinU-=x, {x, 0, 10}, {U, 0, 10}, {t, 0, 10}]
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ContourPlot3D::valuef : (UUt + arcsin U) — x must be a numerical function. >

ContourPlot3D::nonopt : Options expected (instead of t) beyond position 4 in
ContourPlot3D[UUt+ UU ==x, {x, 0, 10}, {U, 0, 10}, {t, O, 10}, AxesLabel - x,

U, t]. An option must be a rule or a list of rules. >

inj24:= f::usage =" Nurnmaganbet Al tyngul”

outi24]= Nur maganbet Al t yngul
neel= f::usage =" U +UxUxUx=0, U(x, 0)=sinx, f (U)=UxUxU/3"

outzel= Ut +UxUxUx=0, U(x, 0)=sinx, f (U)=UxUxU/3
insi:= f::usage = "contourplot3D funkcyasy arkyly ai kyn emes tendeudin grafigin salam z"

ou25]= cont our pl ot 3D funkcyasy arkyly ai kyn emes tendeudin grafigin salamz

n18l:= ContourPlot3D[Ux U+t +U*xU=x, {x, 0, 10}, {U, 0, 10}, {t, 0, 10}, AxesLabel -» {x, U, t}]

out[18]=




